i

=13
=

The use or communication of the contents there of are forbidden without express authority. (2 AF2l AFE o

TOLERANCE(mm)

(KS B 041201l =&)
6 0I5t +0.05
6~ 30 +0.1
30 ~ 120 +0.15
120 ~ 315 +0.2
300 ~ 1000 | £0.3
1000 ~ 2000 | £0.5

NO REVISION RECORD DATE CHK. APPR.
N HEHX
LEeR H ==X sSMe
LIAHS ES(CIME) -
unit : mm
29 D D1 D2 H H1
M6 X1.0
) M8 X1.25
Di—AN-35 35 M10 X1.5 24 | 28 | 17
M12 X1.75
M6 X1.0
) M8 X1.25
Di—AN-45 45 M10 X1.5 32 | 35 | 20
M12 X1.75
MATERIAL UNIT mm NO.|  DESCRIPTION DWG. NO [ QTY | REMARK
Hli=4X APP. DWG. NO. V1.0
s DWG.| 200,05, 15 7 | PART NAME -
- 11 ASS'Y NAME m2 HE
§%-_s.;Har(jWa re AB MODEL NO. Di_AN






